°
o= b s sH==l =3 =
OI20|z 22T SHEE! ZHEH X 2|
=S MdYH/XIE olo]x|
=|
=-
F 31-DIN 7708,
E| ZFEH
o .
£ Zotasl 3E
5
N
[
L3
DIN 6885-1
B3k
y
i
A
oL
!
—1
Z=S 29
US0|F 24T SHEE, 2Ed X2, & O 8l 0|=§
FEHS e DI D2 D3 L1 L3 B3 T Y s a8 ERREEEE
K0162.0080X10 270z &z 80 10H7 24 16 28 - - - -
K0162.0080X12 2 0|gE &5 80 12H7 24 16 28 - - - -

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com 1/3



°
o= = 9YAIL SH==l X}EH %

ETDIE 22T sHE E|, "c'>|'—l|l x'IEI

E=S oY%

FEHS EETY DI D2 D3 L1 L3 B3 T 1y ¥sd a8 3™ ¢sE O
K0162.0100X10 ER RN 100 10H7 26 17 33 - - - -
K0162.0100X12 270l E &2 100 12H7 26 17 33 - - - -
K0162.0125X12 270lEE &2 125 12H7 31 18 33,5 - - - -
K0162.0125X14 2 0lgE &5 125 14H7 31 18 335 - - - -
K0162.0160X14 2IolEE &R 160 14H7 40 20 39 - - - -
K0162.0160X16 2A0lgE &R 160 16H7 40 20 39 - - - -
K0162.0200X18 2 0|8E &R 200 18H7 42 24 45 - - - -
K0162.0200X20 2AolEE &R 200 20H7 42 24 45 - - - -
K0162.0250X22 2 0|gE &2 250 22H7 48 28 51 - - - -
K0162.0250X26 2A0|gE &R 250 26H7 48 28 51 - - - -
K0162.1080X10 2AolEE &R 80 10H7 24 16 28 3 114 - -
K0162.1080X12 2AolgE &2 80 12H7 24 16 28 4 138 - -
K0162.1100X10 2AolgE &2 100 10H7 26 17 33 3 114 - -
K0162.1100X12 2AolEE &R 100 12H7 26 17 33 4 138 - -
K0162.1125X12 2ZAolgE &2 125 12H7 31 18 335 4 13,8 - -
K0162.1125X14 2ZAolgE &2 125 14H7 31 18 335 5 16,3 - -
K0162.1160X14 2olEE &R 160 14H7 40 20 39 5 16,3 - -
K0162.1160X16 2AolgE &2 160 16H7 40 20 39 5 18,3 - -
K0162.1200X18 2ZAolgE &2 200 18H7 42 24 45 6 20,8 - -
K0162.1200X20 2A0lgE &X N 200 20H7 42 24 45 6 22,8 - -
K0162.1250X22 2A0lgE &2 250 22H7 48 28 51 6 24,8 - -
K0162.1250X26 2AolgE &2 250 26H7 48 28 51 8 293 - -
K0162.2080X10 2A0|gE & 80 10H7 24 16 28 - - 218 x M6 x 40 -
K0162.2080X12 2 0|gE &5 80 12H7 24 16 28 - - 218 x M6 x 40 -
K0162.2100X10 27 0|gE &2 100 10H7 26 17 33 - - 218 x M6 x 40 -
K0162.2100X12 2A0|gE &2 100 12H7 26 17 33 - - 218 x M6 x 40 -
K0162.2125X12 2 0|8E &5 125 12H7 31 18 335 - - 221 x M8 x 50 -
K0162.2125X14 27 0|gE &R 125 14H7 31 18 335 - - 221 x M8 x 50 -
K0162.2160X14 2olelE &% 160 14H7 40 20 39 - - 226 x M10 x 80 -
K0162.2160X16 2 0|8E &5 160 16H7 40 20 39 - - 226 x M10 x 80 -
K0162.2200X18 270|eE &2 200 18H7 42 24 45 - - 226 x M10 x 80 -
K0162.2200X20 2olelE &% 200 20H7 42 24 45 - - 226 x M10 x 80 -
K0162.2250X22 2 0|gE &R 250 22H7 48 28 51 - - 228 x M12 x 90 -
K0162.2250X26 27 0|eE &R 250 26H7 48 28 51 - - 228 x M12 x 90 -
K0162.3080X10 2olelg &9 80 10H7 24 16 28 3 114 218 x M6 x 40 -
K0162.3080X12 2AolgE &2 80 12H7 24 16 28 4 138 218 x M6 x 40 -
K0162.3100X10 27 0|eE &2 100 10H7 26 17 33 3 114 218 x M6 x 40 -
K0162.3100X12 27olEE &2 100 12H7 26 17 33 4 138 218 x M6 x 40 -
K0162.3125X12 2AolgE & 125 12H7 31 18 335 4 13,8 221 x M8 x 50 -
K0162.3125X14 2A0|gE &2 125 14H7 31 18 335 5 16,3 221 x M8 x 50 -
K0162.3160X14 2A0lgE &2 160 14H7 40 20 39 5 16,3 226 x M10 x 80 -
K0162.3160X16 2AolgE &2 160 16H7 40 20 39 5 18,3 226 x M10 x 80 -
K0162.3200X18 2 0lgE &2 200 18H7 42 24 45 6 20,8 226 x M10 x 80 -
K0162.3200X20 2A0lgE &2 200 20H7 42 24 45 6 22,8 226 x M10 x 80 -
K0162.3250X22 2ZAolgE &2 250 22H7 48 28 51 6 24,8 228 x M12 x 90 -
K0162.3250X26 2AolEE &R 250 26H7 48 28 51 8 29,3 228 x M12 x 90 -
K0162.4080X10 2A0lgE &R 80 10H7 24 16 28 - - - 218 x M6 x 40
K0162.4080X12 2A0|gE &R 80 12H7 24 16 28 - - - 218 x M6 x 40
K0162.4100X10 2IolEE &2 100 10H7 26 17 33 - - - 218 x M6 x 40
K0162.4100X12 2 0lgE &2 100 12H7 26 17 33 - - - 218 x M6 x 40
K0162.4125X12 2A0|gE &R 125 12H7 31 18 335 - - - 222 x M8 x 56
K0162.4125X14 2AolEE &R 125 14H7 31 18 335 - - - 222 x M8 x 56
K0162.4160X14 2 0|gE &R 160 14H7 40 20 39 - - - 226 x M10 x 80
K0162.4160X16 ZA0|eE &R 160 16H7 40 20 39 - - - 226 x M10 x 80
K0162.4200X18 27 0|gE &2 200 18H7 42 24 45 - - - 226 x M10 x 80
K0162.4200X20 2A0lgE &2 200 20H7 42 24 45 - - - 226 x M10 x 80
K0162.4250X22 ZAoleE &2 250 22H7 48 28 51 - - - 231 x M12 x 102
K0162.4250X26 2olEE &2 250 26H7 48 28 51 - - - 231 x M12 x 102
K0162.5080X10 2AolgE &2 80 10H7 24 16 28 3 114 - 218 x M6 x 40
K0162.5080X12 ZAolgE &2 80 12H7 24 16 28 4 138 - 218 x M6 x 40
K0162.5100X10 2A0lgE &X N 100 10H7 26 17 33 3 114 - 218 x M6 x 40
K0162.5100X12 2AolgE &2 100 12H7 26 17 33 4 138 - 218 x M6 x 40
K0162.5125X12 27 0|gE &2 125 12H7 31 18 335 4 138 - 222 x M8 x 56

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
[ — = = -
S0 2AES SHES, W #a
E= Qo

FEHS EETY DI D2 D3 L1 L3 B3 T 1Y ¥8Ea BT
K0162.5125X14 27oElE X 125 14H7 31 18 335 5 16,3 - @22 x M8 x 56
K0162.5160X14 27olgE X 160 14H7 40 20 39 5 163 - 226 x M10 x 80
K0162.5160X16 2IolegE & 160 16H7 40 20 39 5 183 - 226 x M10 x 80
K0162.5200X18 BIoIRE &R 200 18H7 42 24 45 6 208 - 226 x M10 x 80
K0162.5200X20 2A0IEE &R 200 20H7 42 24 45 6 228 - 226 x M10 x 80
K0162.5250X22 2IolegE X 250 22H7 48 28 51 6 248 - 231 x M12x 102
K0162.5250X26 27olglE X 250 26H7 48 28 51 8 29,3 - 231 x M12 x 102

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



